PRODUCT INFORMATION SHEET

J-BOLT KIT (5/16%)

J-bolt kits are designed to hold the cable ladder runway securely to racks or other mountings.

1. Available in zinc
2. Each kit consists of (2) 3" J-bolts and 5/16
hardware

5/16-18 X 3" J-BOLT (2)

5/16 SPLIT LOCK WASHERS (2)

5/16-18 HEX NUTS (2)

Part Number

WL-LRA300JK

WWW.WAVENET.NET CARSON, CA. PHONE: 310-885-4200




	Sheet1
	Drawing View4




